
Regency Insert & Hearth Heater 15

PARTS LIST - I1100, I2100, I3100

        Part #          Description
846-913 Door Assembly-Small Gold (I1100)-no glass
846-915 Door Assembly-Small Black (I1100)-no glass
846-910 Door Assembly-Large Gold (I2100, I3100)-no glass
846-916 Door Assembly-Large Black (I2100, I3100)-no glass

2) 846-302 Glass - Replacement - (I1100)
3) 846-304 Glass - Replacement - (I2100, I3100)
4) 936-243 7/8" Adhesive Tape Gasket
5) 846-920 Glass Retainer Clips (set of 8)
6) * Screw 1/4-20 x 3/8"
7) 948-172/P Glass Retainer - Large (I2100, I3100)
8) 948-170/P Glass Retainer - Small (I1100)
9) 846-973 Door Handle Assembly
16) 846-570 Med. Density Door Gasket Kit
17) 846-918 Hinge Caps (2/set)
19) 948-101 Spring Handle - Large
20) 948-102 Spring Handle - Small
23) 820-235 Flue Brackets (Pkg)

142-917 I2100M Fan/Blower Assembly
163-915 I3100L Fan/Blower Assembly
170-915 I1100S Fan/Blower Assembly

24) 910-157/P Blower/Fan Motor
25) 910-678 Power Cord (120 Volts)
27) 910-142 Fan Thermodisc
28) 910-140 Fan Speed Switch

HI/OFF/LOW (3-way)
29) 910-138 Switch - Auto/Manual (2-way)
30) * Grommet Strain Relief

35) 063-954 Air Tube - 1" I3100 (Qty:1)
074-954 Air Tube - 1" I1100 (Qty: 1)

36) 033-953 Air Tube - 3/4" I2100 (Qty: 3)
033-953 Air Tube - 3/4" I1100 (Qty: 1)
063-953 Air Tube - 3/4" I3100 (Qty: 3)

37) 063-955 Baffle (2/set) I3100
38) 073-955 Baffle (2/set) I1100
39) 033-955 Baffle (2/set) I2100

42) 163-932 Convection Grill-Gold (I2100, I3100)
163-930 Convection Grill-Black (I2100, I3100)

43) * Hex Nut 10-24 Zinc coated
44) * Washer #10 Flat
45) * Bolt, 10-24 x 3/4" Black Carriage

948-216 Regency Logo
908-332 Manual

*Not available as a replacement part.

PARTS



Regency Insert & Hearth Heater16

PARTS

PARTS LIST - I1100, I2100, I3100

        Part #          Description
Faceplate: I3100L

163-910 Faceplate & Trim Set - Regular
385) 163-165 Trim Right Regular
386) 163-160 Trim Top Regular
387) 163-161 Trim Left Regular
388) * Faceplate Side Regular
389) * Faceplate Top Regular

163-912 Faceplate & Trim Set -
Oversize

395) 163-164 Trim Right Oversize
396) 163-162 Trim Top Oversize
397) 163-163 Trim Left Oversize
398) * Faceplate Side Oversize
399) * Faceplate Top Oversize

Faceplate: I2100M
140-911 Faceplate & Trim Set - Regular

285) 143-161 Trim Right Regular
286) 143-158 Trim Top Regular
287) 143-160 Trim Left Regular
288) * Faceplate Side Regular
289) * Faceplate Top Regular

140-913 Faceplate & Trim Set -
Oversize

295) 143-164 Trim Right Oversize
296) 143-162 Trim Top Oversize
297) 143-163 Trim Left Oversize
298) * Faceplate Side Oversize
299) * Faceplate Top Oversize

Faceplate: I1100S
170-911 Faceplate & Trim Set - Regular

185) 170-160 Trim Right Regular
186) 170-159 Trim Top Regular
187) 170-162 Trim Left Regular
183) * Faceplate Right Side Regular
188) * Faceplate Left Side Regular
189) * Faceplate Top Regular

170-913 Faceplate & Trim Set -
Oversize

195) 143-161 Trim Right Oversize
196) 170-168 Trim Top Oversize
197) 143-160 Trim Left Oversize
194)* Faceplate Right Side

Oversize
198)* Faceplate Top Oversize
199)* Faceplate Left Side Oversize

*Not available as a replacement part.



Regency Insert & Hearth Heater 17

PARTS LIST - H2100

        Part #          Description Part #          Description
1) 846-910 Door Assembly-Large Gold - no glass

846-916 Door Assembly-Large Black - no glass
3) 846-304 Glass - Replacement
4) 936-243 7/8" Adhesive Tape Gasket
5) 846-920 Glass Retainer Clips (set of 8)
6) * Screw 1/4-20 x 3/8"
7) 948-172/P Glass Retainer - Large
9) 846-973 Door Handle Assembly
16) 846-570 Med. Density Door Gasket Kit
17) 846-918 Hinge Caps (2/set)
19) 948-101 Spring Handle - Large
20) 948-102 Spring Handle - Small

120-915 H2100M Fan/Blower Assembly
24) 910-157/P Blower/Fan Motor (120 Volts)
25) 910-678 Power Cord (120 Volts)
27) 910-142 Fan Thermodisc
28) 910-140 Fan Speed Switch HI/OFF/LOW (3-way)
29) 910-138 Switch - Auto/Manual  (2-way)
30) * Grommet Strain Relief

35) 120-954 Air Tube Front
36) 120-953 Air Tube Rear

37) 836-212 Baffle Insulation
38) * Insulation Weights
39) 120-950 Steel Baffle

948-216 Regency Logo

Faceplate: H2100M
120-910 Faceplate & Trim Set - Regular

485) 120-161 Trim Right Regular
286) 143-158 Trim Top Regular
487) 120-162 Trim Left Regular
488)* Faceplate Side Regular
489) * Faceplate Top Regular

120-912 Faceplate & Trim Set - Oversize
585) 120-164 Trim Right Oversize
286) 120-163 Trim Top Oversize
587) 120-165 Trim Left Oversize
588)* Faceplate Side Oversize
589) * Faceplate Top Oversize

846-532 Trim Clips
836-300 Yellow Insulation 48" x 4"
846-531 Faceplate Hardware Pkg.

*Not available as a replacement part.

PARTS



Regency Insert & Hearth Heater18

PARTS

PARTS LIST  - I1100, I2100, I3100, H2100

        Part #          Description

70) 902-111 Brick Regular Full Size: 1-1/4" x 4-1/2" x 9"
71) 802-104 Brick Partial: 1-1/4" x 4" x 9"
72) 802-146 Brick Partial: 1-1/4" x 1-3/4" x 9"
75) 802-139 Brick Partial: 1-1/4" x 4" x 8-3/4"
76) 802-152 Brick Partial: 1-1/4" x 2" x 9"
78) 802-143 Brick Partial: 1-1/4" x 2-1/4" x 2-1/4"
81) 802-135 Brick Partial: 1-1/4" x 1-1/4" x 9"
84) 802-107 Brick Partial: 1-1/4" x 4-1/2" x 8"
85) 802-156 Brick Partial: 1-1/4" x 4-1/4" x 8"




